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1 13-C |B&R i IFNR7 = 5 RC 342 22 1
2 5-A |#8& FEF RERTHE x CP 342 20 5
3 15-B | &Il H#E IFRNETHE 8 RC 342 18 4
4 14-B [FI#R HEX IFNR7 = 5 CcP 341 21 3
5 9-A [Nl R—ER SHXTHE 5 RC 335 18 6
6 8-A |TH HB— FREAXT7HS 5 CP 330 14 7
7 1-A |Fig B IFNRT 5 RC 329 16 4
8 10-A |HE 5#S IFNR7 = 5 RC 328 15 10
9 12-C |#iE &M IFNR7 = 5 RC 324 14 4
10 4-A ERE BX IFNR7 = 5 CP 323 13 5
1 5-C |R¥ X IFNR7 = 5 RC 322 14 5
12 2-C |i=fE B2 IFNR7 = 5 RC 321 9 4
13 7B [#&# T IFNR7H= 5 RC 321 9 4
14 1-B [&€F m— IFNR7 = 5 RC 319 1 5
15 8-B |#EH Imkk IFNETHE 8 RC 318 9 1
16 | 11-B [8RE #df IFNR7 = 5 RC 315 10 4
17 | 12-A |RE B3 IFNR7 = 5 RC 314 7 4
18 | 16-A |EE FiE RERT7HE 5 RC 312 1 4
19 9-B |4 BAX IFRNETHE 5 RC 312 7 2
20 | 13-B |BE & SHXTHE 5 RC 311 7 0
21 9-C |KH# #&EF FHRER7HS 8 RC 309 9 3
22 | 16-B |HTH =7 IFNR7 = 5 RC 307 5 3
23 6-C | E— IFNR7 = 5 RC 304 5 2
24 2-B [&EH fB¥F BIERTHE 5 RC 300 4 1
25 6-B |#iK BEF HEAXTHS 8 RC 296 7 4
26 1-C (&% R#H IFNRT 5 5 RC 296 7 2
27 7-C |IRE H IFRNETHE 8 RC 291 7 5
28 | 10-C |8 & FREXT7HS 5 RC 291 3 2
29 2-A |Fig fiF 8 RC 291 2 1
30 | 10-B |#E)II =EER 5 RC 290 4 2
31 5-B | EE IFNR7 = 5 RC 288 5 3
32 4-C |(£H =— IFNR7 = 5 RC 288 5 1
33| 14C | 7 IFNR7 = 5 RC 285 4 1
34 | 11-C |l BT IFNR7 = 5 RC 273 3 1
35 8-C |EH ERT—FI)— 5 RC 272 5 2
36 | 12-B |H[R #X IFNR7 = 5 RC 272 4 0
37 | 16-C |fBE ER=E IFNETHE 8 RC 269 4 1
38 | 11-A |BFE k= IFNETHE 8 RC 268 2 0
39 | 15-C |/MEE %5k IFNR7 = 5 RC 262 3 0
40 6-A |/NE fE HEAXTHS 5 RC 260 2 0
41 15-A | &# EER IFNR7 = 5 RC 258 1 0
42 4-B |#H BF IFNR7 = 5 RC 257 3 0
43 | 13-A [H[R = IFNR7 = 5 RC 255 10 0
44 3-B |#HiH R"E IFNR7 = 5 RC 255 2 0
45 T-A[aF BT FREAXT7HS 5 PP 239 4 1
46 3-A | kfF HEx IFNETHE x RC 238 4 0
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